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Challenge 2015

VWA-Trail - Time Attack Class

HBERR

444799  A9-MEFRE 112:30:00
B4Lh7599@Q  24-hEERE 115:20:00
2015.11.23 XE:2Y J—RKM: K34 @ ILEREY—+ > k 3.703km
B 5F RXHIE KFS4/13— ETIL BHE 1[E8 AR 2@EBE RAME
1 65615 5 1 BICH A Porsche GT3 *x142.480 3/ 8 1'43.052 2/ 2
2 307 5 2 ftk#E #N BMW 1M M *x1'49.892 7/9 150.270 6/ 7
3 30 A 1 =@EH% RA AUDI TT RS ACTIVE TTRS 1'54.872 3/ 5 %1'53.616 2/ 3
4 301 B 1 JIE 3hiE Audi $3/2.0 AUDI $3 DL *x1'54.389 8/ 9 1'55.084 2/ 8
5 132 2 1 % TXK Porsche 996 # hy1996GT3AM -} *x1'54.924 6/ 6 1'55.686 3/ 8
6 127 5 3 EH & Peugeot 306 7"y 3-306 *1'56.963 9/ 9 1'57.452 8/ 8
7 137 5 4 FH #E Peugeot 2053 Y 135S 2°05.817 3/3 %1'59.541 7/ 8
8 125 5 5 rhff A BMW M3/3. 2 M3-CSL 2°00.197 3/ 6 *159.975 6/ 7
9 126 5 6 {ERK FA Lotus I-t° A-53 Y-t STD *x1'59.984 8/ 8 2'01.300 7/ 8
10 135 5 7 #RE AR Peugeot 306 7Y IBTA *x200.031 6/ 9 2'01.035 8/ 8
11 3083 B 2 #BE x¥ VW POLO R.E.$ POLOGTI %x200.928 8/ 8 2°00.997 1/ 17
12 131 3 1 &E#FE MRF BMW M235i /3.0 M235i 2'03.463 3/8 %203.084 2/8
13 123 5 8 ZEH f— ABARTH 500/1. 4 N =foI=F/N %x2'03.594 8/ 8 2°04.238 4/ 8
14 306 C 1 ZFH BE Audi TT 4-A" F/-WIEIBRTT 2°08.231 8/ 8 %204.621 1/8
15 35 B 3 IA =2E VW GOLF6 R.E.S Golf6ED35 *x2'04.837 1/ 9 2'05.586 6/ 8
16 108 1T 1 ER B FIAT PUNT imozze-PUNTO *2'05.200 8/ 8 2°06.286 7/ 7
17 302 B 4 A A VW GOLF4 R.E. SGol f4GTi 22 *x2'05.427 2/ 9 2°05.728 7/ 8

18 120 5 9 P IFER ABARTH PUNTO 7 UMEN 77y *x2'06.156 71/ 17 HEET
19 136 5 10 = #0s8 Peugeot 106 F-LAn" ¥° 1106 2°11.613 8/ 8 %206.281 6/8
20 128 5 11 R\l EH Peugeot 306 SLIPOUT306 *2'06.369 8/ 8 2'08.315 7/ 8
21 103 1 2 Bf ER ABARTH 500C F-L-1MY3{ABJE 2°07.150 8/ 8 %2°06.824 7/ 7
22107 1 3 i e 155TS16V/2. 0 TS-RACING 155 *x2'08.151 7/ 8 2'08.258 6/ 7
23 102 1 4 & —mH 145TS/2.0 ICCHIINO 2'12.998 6/ 8 %209.323 7/ 7
24 130 4 1 EHE &R} ABARTH 595 ABARTH595 2'10.798 5/ 8 %209.724 1/ 1
25 133 5 12 €M@ BEH VW POLO GTI *2'11.133 4/ 8 2'13.613 1/ 17
26 105 1 5 ki & 14718/1. 6 F UM AT E %x215.498 8/ 8 2'16.358 1/ 17
27 511 5 13 wH FEN 4 HEET *2'15. 7114 1/ 1
28 138 5 14 E@ #H 14718/2.0 THI7OAH147 %x2'39.459 3/ 7 2'46.152 6/ 6

93245 : 1=AR100, 2=EC100SS, 3=EC100S, 4=EC100, 5=—#EITE. A=VWA-T-0, B=VWA-T-2, C=VWA-T-4
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